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[1:304 BmMER OUT | I N GROSS| HDCP | NET e -804 BmMER OUT | I N GROSS| HDCP | NET L
BB )1 E#h 46 44 90 180 720 26 XiF #i% 48 47 95 120 83.0

2 K5 R 38 46 84 120 720 27 &8 % 49 49 98 15.0 83.0

3 R BE 35 40 7% 20 730 28 #EE FA 52 56 108 240 840

4 WX e 47 46 93 190 740 29 HH @ 47 4] 94 90 85.0

5 WA &7 49 49 98 240 1740 30 &&K HE 47 52 99 140 85.0

6 T kbF 41 49 90 16.0 740 31 #E BiF 54 42 96 10.0 86.0

7 &K XZTHEB 38 43 81 6.0 750 32 T BAfH 47 49 96 10.0 86.0

8 AR J# 49 45 94 18.0 76.0 33 f&EH #Hr 51 54 105 18.0 87.0

9 Bd R 42 39 81 50 76.0 34 XKiE B84 53 67 120 220 98.0

10 X F 47 48 95 19.0 76.0 35 U EE 79 73 152 30.0 1220

11 ¥=E =% 52 45 97 200 770

12 YA B 50 42 92 140 78.0

13 %t 43 40 83 50 780

14 EAE & 38 42 80 20 78.0

15 —fa KA 43 51 94 16.0 78.0

16 7RE FA 47 42 89 100 79.0

17 BEH K& 51 47 98 19.0 79.0

18 #HA 3k 46 51 97 18.0 79.0

19 /Il B& 48 44 92 120 80.0

20 KT &= 48 45 93 13.0 800

21 =—#E 46 47 93 13.0 800

22 /pith IERE 43 46 89 80 810

23 EX R 44 48 92 11.0 81.0

24 BAX EE 53 96 109 270 820

25 Ffk FH 47 46 93 100 830
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R0 SmE4 OUT I N GROSS| HDCP | NET e
Bh% sm +ik 43 43 86 160 70.0
2 [l 2K 40 41 81 100 71.0
3 A 18X 46 44 90 160 740
4 IRAE KR 41 41 82 70 750
5 #Hith EX 43 40 83 70 76.0
6 =if BEih 42 44 86 100 76.0
7 R&AEHE 45 50 95 190 76.0
8 EIif R 43 39 82 50 770
9 AHMBEX 46 50 96 190 770
10 BEf % 46 46 92 130 79.0
11 #EEX 44 = 46 90 11.0 79.0
12 AR XE 46 51 97 180 79.0
13 Big B 47 @ 45 92 120 80.0
14 AR =X 47 4] 94 130 81.0
15 fEE R= 45 @ 46 91 80 830
16 Eif i o6 58 114 30.0 84.0
17 31 FF 02 9] 109 25.0 84.0
18 B EL 02 33 105 20.0 85.0
19 [t & 47 30 97 120 850
20 kR EE °03 47 100 14.0 86.0
21 X/E e o1 52 103 11.0 920
22 Fir =i§ 60 63 123 30.0 93.0
23 wEIl = ol 57 114 16.0 98.0
24 R tE 64 55 119 13.0 106.0
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[1:304 BmMER OUT | I N GROSS| HDCP | NET e -804 BmMER OUT | I N GROSS| HDCP | NET L
B 57k s 46 43 89 260 63.0 26 &H B— 54 58 112 250 870

2 RAIlER 44 50 94 220 720 27 KAR BE 53 57 110 230 870

3 REM 45 46 91 180 1730 28 A= A= 50 47 97 9.0 88.0

4 FHE w3k 42 47 89 150 740 29 EHA IE= 60 61 121 300 910

5 R F# 42 39 81 60 750 30 &R IERE 56 59 115 19.0 96.0

6 BFKASLF 46 47 93 180 750

7 {R#k BA5A 39 42 81 60 750

8 HHEX 38 44 82 70 1750

9 EKAS{E:X 45 43 88 120 176.0

10 wd FEZ 49 47 96 190 770

11 it EHF 43 43 86 80 780

12 KH RBED 48 48 96 18.0 780

13 H# Bhz 46 51 97 180 79.0

14 HH BRF 42 47 89 80 810

15 e A% 45 45 90 80 820

16 i & 47 49 96 140 820

17 =& IE 48 39 87 40 830

18 @aH {§1T 52 47 99 15.0 840

19 /Mt & 43 49 92 80 840

20 M =i 43 47 90 50 850

21 ;B2 44 50 94 90 850

22 kR =B 44 53 97 120 850

23 [RH =% 61 51 112 260 86.0

24 BEIR & 55 50 105 190 86.0

25 1R =8 61 56 117 300 870
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